



This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Washington-Chapman Railroad Crossing Improvements

BID OPENING		ENGINEER'S ESTIMATE		Sposeto Engineering Inc.		FBD Vanguard Construction, Inc.		Kerex Engineering, Inc.		
	DATE: October 26, 2022		Date Approved: 9/13/2022		4558 Contractors Place		550 Greenville Road		4941 Pacheco Boulevard	
	<b>TIME:</b> 3:00 p.m.		Prepared by: J. O'Driscoll		Livermore, CA 94551		Livermore CA 94550		Martinez, CA 94553	
	LOCATION: City Clerk's Office				Phone: (925) 44	43-4200	Phone: (925) 245-1300		Phone: (925) 387-8913	
					Fax: (925) 443-	6800	Fax: (925) 245-	1007	Fax: (925) 387-0853	
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
BASE I										
	Mobilization per Section 9-3.4	1 LS	\$52,000.00	\$52,000.00	\$28,000.00	\$28,000.00	\$70,000.00	\$70,000.00	\$90,000.00	\$90,000.00
2	Work Area Traffic Control per Section 601	1 LS	\$20,000.00	\$20,000.00	\$62,000.00	\$62,000.00	\$109,300.00	\$109,300.00	\$85,000.00	\$85,000.00
3	Remove Vertical Curb per Section 300-1	89 LF	\$15.00	\$1,335.00	\$31.00	\$2,759.00	\$12.00	\$1,068.00	\$100.00	\$8,900.00
4	Remove Curb & Gutter per Section 300-1	75 LF	\$25.00	\$1,875.00	\$31.00	\$2,325.00	\$20.00	\$1,500.00	\$100.00	\$7,500.00
5	Remove Concrete Sidewalk per Section 300-1	3,106 SF	\$10.00	\$31,060.00	\$6.00	\$18,636.00	\$12.00	\$37,272.00	\$8.00	\$24,848.00
6	Remove Fence per Section 300-1.1	21 LF	\$50.00	\$1,050.00	\$38.00	\$798.00	\$9.00	\$189.00	\$250.00	\$5,250.00
7	Roadway Excavation per Section 300-1 (Final Quantity)	137 CY	\$120.00	\$16,440.00	\$227.00	\$31,099.00	\$238.00	\$32,606.00	\$320.00	\$43,840.00
8	Install Decorative Cobblestone per Section 303-4.3	428 SF	\$70.00	\$29,960.00	\$23.00	\$9,844.00	\$50.00	\$21,400.00	\$65.00	\$27,820.00
9	Imported Borrow Fill per Section 300- 5.3 (Final Quantity)	140 CY	\$75.00	\$10,500.00	\$174.00	\$24,360.00 **	\$314.00	\$43,960.00	\$250.00	\$35,000.00
10	Install Detectable Warning Surface per Section 303-5.5.3	120 SF	\$50.00	\$6,000.00	\$56.00	\$6,720.00	\$33.00	\$3,960.00	\$120.00	\$14,400.00
11	Install Curb & Gutter per Section 303- 5.5.3	75 LF	\$110.00	\$8,250.00	\$112.00	\$8,400.00	\$120.00	\$9,000.00	\$200.00	\$15,000.00
12	Install 6" Vertical Curb per Section 303- 5.5.3	792 LF	\$65.00	\$51,480.00	\$104.00	\$82,368.00	\$92.00	\$72,864.00	\$100.00	\$79,200.00
13	Install Curb Wall per Section 303-5.5.3	55 LF	\$150.00	\$8,250.00	\$190.00	\$10,450.00	\$217.00	\$11,935.00	\$200.00	\$11,000.00
14	Install Sidewalk per Section 303-5.5.3	6,058 SF	\$35.00	\$212,030.00	\$20.00	\$121,160.00	\$19.00	\$115,102.00	\$18.00	\$109,044.00

PROJECT TITLE: Washington-Chapman Railroad Crossing Improvements

BID O	PENING		ENGINEER'S ESTIMATE		Sposeto Engineering Inc.		FBD Vanguard Construction, Inc.		Kerex Engineering, Inc.	
	<b>DATE:</b> October 26, 2022		Date Approved: 9/13/2022		4558 Contractor	rs Place	Place 550 Greenville Road 49		4941 Pacheco E	Boulevard
	<b>TIME:</b> 3:00 p.m.		Prepared by: J. C	. O'Driscoll Livermore, CA 94551 Livermore CA 94550		Livermore CA 94550		Martinez, CA 9-	4553	
	LOCATION: City Clerk's Office				Phone: (925) 4-	43-4200	Phone: (925) 2	45-1300	Phone: (925) 387-8913	
					Fax: (925) 443-	5) 443-6800 Fax: (925) 245-1007		Fax: (925) 387-	-0853	
ITEM	1774	OHANTITY	LINUT COST	ITEM COST	LINIT COST	ITEM 000T	LINUT COOT	ITEM COOT	LINUT COOT	ITEM COST

					Fax: (925) 443-6800		Fax: (925) 245-1007		Fax: (925) 387-0853	
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
15	Install Driveway per Section 303-5.5.3	222 SF	\$50.00	\$11,100.00	\$23.00	\$5,106.00	\$22.00	\$4,884.00	\$30.00	\$6,660.00
16	Install Curb Ramp per Section 303- 5.5.3	281 SF	\$50.00	\$14,050.00	\$34.00	\$9,554.00	\$35.00	\$9,835.00	\$75.00	\$21,075.00
17	Install Checker Plate Gutter per Section 303-5.5.3	1 EA	\$1,500.00	\$1,500.00	\$8,865.00	\$8,865.00	\$8,500.00	\$8,500.00	\$18,000.00	\$18,000.00
18	Install Reinforced Concrete Gravity Pipe per Section 306	72 LF	\$200.00	\$14,400.00	\$143.00	\$10,296.00	\$165.00	\$11,880.00	\$400.00	\$28,800.00
19	Install Fence End Post per Section 304-2	1 LS	\$1,000.00	\$1,000.00	\$1,710.00	\$1,710.00	\$1,500.00	\$1,500.00	\$7,500.00	\$7,500.00
20	Remove Traffic Striping per Section 314- 2	1,242 SF	\$2.00	\$2,484.00	\$9.00	\$11,178.00	\$7.70	\$9,563.40	\$8.00	\$9,936.00
21	Remove pavement Markings per Section 314-2	148 SF	\$4.00	\$592.00	\$9.00	\$1,332.00	\$7.70	\$1,139.60	\$8.00	\$1,184.00
22	Remove Surface Mounted Delineator per Section 315-1.2	21 EA	\$100.00	\$2,100.00	\$36.00	\$756.00	\$55.00	\$1,155.00	\$60.00	\$1,260.00
23	Relocate Roadside Sign per Section 315-1.1	2 EA	\$500.00	\$1,000.00	\$700.00	\$1,400.00	\$333.00	\$666.00	\$750.00	\$1,500.00
24	Install Curb Paint per Section 314-4	75 LF	\$5.00	\$375.00	\$7.00	\$525.00	\$5.50	\$412.50	\$6.00	\$450.00
25	Install Traffic Striping-Detail 9 per Section 314-4	932 LF	\$5.00	\$4,660.00	\$3.00	\$2,796.00	\$3.00	\$2,796.00	\$4.00	\$3,728.00
26	Install Traffic Striping-Detail 22 per Section 314-4	45 LF	\$8.00	\$360.00	\$14.00	\$630.00	\$12.00	\$540.00	\$15.00	\$675.00
27	Install Traffic Striping-Detail 25A per Section 314-4	470 LF	\$6.00	\$2,820.00	\$3.00	\$1,410.00	\$3.00	\$1,410.00	\$5.00	\$2,350.00
28	Install Traffic Striping-Detail 27B per Section 314-4	565 LF	\$5.00	\$2,825.00	\$3.00	\$1,695.00	\$2.00	\$1,130.00	\$5.00	\$2,825.00
29	Install Traffic Striping-Detail 29 per Section 314-4	136 LF	\$8.00	\$1,088.00	\$27.00	\$3,672.00	\$23.00	\$3,128.00	\$30.00	\$4,080.00
30	Install Traffic Striping-Detail 38B per Section 314-4	24 LF	\$8.00	\$192.00	\$9.00	\$216.00	\$8.00	\$192.00	\$10.00	\$240.00
31	Install Object Marker-Type K-1 (CA) per Section 315-12	5 EA	\$250.00	\$1,250.00	\$412.00	\$2,060.00	\$67.00	\$335.00	\$500.00	\$2,500.00
32	Install Object Marker-Type K-2 (CA) per Section 315-1.2	3 EA	\$250.00	\$750.00	\$412.00	\$1,236.00	\$67.00	\$201.00	\$500.00	\$1,500.00

PROJECT TITLE: Washington-Chapman Railroad Crossing Improvements

PROJECT NO.: **2016.0320** BID NO.: **22-23.001** 

BID OPENING E		ENGINEER'S ESTIMATE				FBD Vanguard Construction, Inc.		Kerex Engineering, Inc.		
			Date Approved: 9	9/13/2022	4558 Contractor	4558 Contractors Place		Road	4941 Pacheco Boulevard	
			Prepared by: J. O'Driscoll		Livermore, CA 94551		Livermore CA 94550		Martinez, CA 94553	
	LOCATION: City Clerk's Office				Phone: (925) 44	13-4200	Phone: (925) 24	I5-1300	Phone: (925) 387-8913	
					Fax: (925) 443-	6800	Fax: (925) 245-	1007	Fax: (925) 387-	0853
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
33	Install Pavement Markings per Section 314-4	274 SF	\$6.00	\$1,644.00	\$15.00	\$4,110.00	\$13.00	\$3,562.00	\$15.00	\$4,110.00
34	Install Pavement Marker (Type G) per Section 314-4	28 EA	\$25.00	\$700.00	\$32.00	\$896.00	\$28.00	\$784.00	\$30.00	\$840.00
35	Install Roadsign Sign (R6-2) per Section 315-1.1	6 EA	\$500.00	\$3,000.00	\$600.00	\$3,600.00	\$500.00	\$3,000.00	\$550.00	\$3,300.00
36	Install Pedestrian Railing per Section 304-2	640 LF	\$100.00	\$64,000.00	\$150.00	\$96,000.00	\$126.00	\$80,640.00	\$130.00	\$83,200.00
37	Install Access Gate per Section 304-6	1 EA	\$4,000.00	\$4,000.00	\$13,000.00	\$13,000.00	\$11,300.00	\$11,300.00	\$15,000.00	\$15,000.00
38	Railroad Flagging per Section 7-5	1 LS	\$80,000.00	\$80,000.00	\$45,000.00	\$45,000.00	\$30,000.00	\$30,000.00	\$100,000.00	\$100,000.00
39	AC Paving per Section 302-5	82 SF	\$20.00	\$1,640.00	\$29.00	\$2,378.00	\$74.00	\$6,068.00	\$75.00	\$6,150.00
40	Survey by the Contractor per Section 2- 9.2.2	1 LS	\$18,000.00	\$18,000.00	\$8,300.00	\$8,300.00	\$8,300.00	\$8,300.00	\$15,000.00	\$15,000.00
		TOTAL BID:		\$685,760.00		\$646,640.00		\$733,077.50		\$898,665.00
	REQUIRED DOCUMENTATION:		Bid Bond		,	YES	)	/ES	`	'ES
			Addendum 1 & 2	2	,	YES	١	/ES	١	'ES
		SUBCON	ITRACTORS:		Golden Bay Fen Inc.	ce Plus Ironworks,	Golden Bay Fen Inc.	ce Plus Ironworks,	Delta Survey, Inc	Э.
					Benchmark Eng	ineering, Inc.	Farwest Safety,	Inc.	Compass Engineering Contractors, Inc.	
					Compass Engineering Contractors, Inc.		, Compass Engineering Contractors, Inc.		Golden Bay Fence Plus Ironworks, Inc.	
		NOTES:			** Math Error Co	orrected				

Reviewed by: John O'Driscoll Date: 10/31/2022

John O'Driscoll, Project Manager

Reviewed by: A Cosakwa Date: 10/31/2022

Austine Osakwe, Senior Engineer





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Washington-Chapman Railroad Crossing Improvem

BID O	PENING		ENGINEER'S E	STIMATE	Mark lee & Yong	Kay, Inc. DBA Bay	CF Contracting,	Inc.	
	<b>DATE:</b> October 26, 2022		Date Approved: 9	/13/2022	4026 Martin Luth	ner king Jr. Way	850 South Van N	less Ave., #21	
	<b>TIME:</b> 3:00 p.m.	Prepared by: J. O	Driscoll	Oakland, CA 94	609	San Francisco, CA 94110			
	LOCATION: City Clerk's Office				Phone: (510) 65	8-7225	Phone: (415) 721-7160		
					Fax: (510) 658-4	1890	Fax: (415) 296-6437		
ITEM									
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
BASE I									
1	Mobilization per Section 9-3.4	1 LS	\$52,000.00	\$52,000.00	\$40,000.00	\$40,000.00	\$100,000.00	\$100,000.00	
2	Work Area Traffic Control per Section 601	1 LS	\$20,000.00	\$20,000.00	\$80,000.00	\$80,000.00	\$200,000.00	\$200,000.00	
3	Remove Vertical Curb per Section 300- 1	89 LF	\$15.00	\$1,335.00	\$20.00	\$1,780.00	\$40.00	\$3,560.00	
4	Remove Curb & Gutter per Section 300-1	75 LF	\$25.00	\$1,875.00	\$50.00	\$3,750.00	\$60.00	\$4,500.00	
5	Remove Concrete Sidewalk per Section 300-1	3,106 SF	\$10.00	\$31,060.00	\$10.00	\$31,060.00	\$8.00	\$24,848.00	
6	Remove Fence per Section 300-1.1	21 LF	\$50.00	\$1,050.00	\$100.00	\$2,100.00	\$200.00	\$4,200.00	
7	Roadway Excavation per Section 300-1 (Final Quantity)	137 CY	\$120.00	\$16,440.00	\$100.00	\$13,700.00	\$300.00	\$41,100.00	
8	Install Decorative Cobblestone per Section 303-4.3	428 SF	\$70.00	\$29,960.00	\$80.00	\$34,240.00	\$90.00	\$38,520.00	
9	Imported Borrow Fill per Section 300- 5.3 (Final Quantity)	140 CY	\$75.00	\$10,500.00	\$80.00	\$11,200.00	\$250.00	\$35,000.00	
10	Install Detectable Warning Surface per Section 303-5.5.3	120 SF	\$50.00	\$6,000.00	\$100.00	\$12,000.00	\$75.00	\$9,000.00	
11	Install Curb & Gutter per Section 303- 5.5.3	75 LF	\$110.00	\$8,250.00	\$100.00	\$7,500.00	\$125.00	\$9,375.00	
12	Install 6" Vertical Curb per Section 303- 5.5.3	792 LF	\$65.00	\$51,480.00	\$150.00	\$118,800.00	\$70.00	\$55,440.00	
13	Install Curb Wall per Section 303-5.5.3	55 LF	\$150.00	\$8,250.00	\$300.00	\$16,500.00	\$150.00	\$8,250.00	
14	Install Sidewalk per Section 303-5.5.3	6,058 SF	\$35.00	\$212,030.00	\$20.00	\$121,160.00	\$16.00	\$96,928.00	

PROJECT TITLE: Washington-Chapman Railroad Crossing Improvem

BID OPENING	ENGINEER'S ESTIMATE	Mark lee & Yong Kay, Inc. DBA Bay	CF Contracting, Inc.
DATE: October 26, 2022	Date Approved: 9/13/2022	4026 Martin Luther king Jr. Way	850 South Van Ness Ave., #21
<b>TIME:</b> 3:00 p.m.	Prepared by: J. O'Driscoll	Oakland, CA 94609	San Francisco, CA 94110
LOCATION: City Clerk's Office		Phone: (510) 658-7225	Phone: (415) 721-7160
		Fax: (510) 658-4890	Fax: (415) 296-6437

					Fax: (510) 658-4	1890	Fax: (415) 296-6437	
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
15	Install Driveway per Section 303-5.5.3	222 SF	\$50.00	\$11,100.00	\$30.00	\$6,660.00	\$30.00	\$6,660.00
13	install Driveway per Section 303-3.3.3	222 31	φ30.00	\$11,100.00	φ30.00	φ0,000.00	φ30.00	φ0,000.00
16	Install Curb Ramp per Section 303- 5.5.3	281 SF	\$50.00	\$14,050.00	\$30.00	\$8,430.00	\$80.00	\$22,480.00
17	Install Checker Plate Gutter per Section 303-5.5.3	1 EA	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
18	Install Reinforced Concrete Gravity Pipe per Section 306	72 LF	\$200.00	\$14,400.00	\$400.00	\$28,800.00	\$2,000.00	\$144,000.00
19	Install Fence End Post per Section 304-2	1 LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,930.00	\$1,930.00
20	Remove Traffic Striping per Section 314- 2	1,242 SF	\$2.00	\$2,484.00	\$10.00	\$12,420.00	\$10.00	\$12,420.00
21	Remove pavement Markings per Section 314-2	148 SF	\$4.00	\$592.00	\$10.00	\$1,480.00	\$10.00	\$1,480.00
22	Remove Surface Mounted Delineator per Section 315-1.2	21 EA	\$100.00	\$2,100.00	\$60.00	\$1,260.00	\$71.00	\$1,491.00
23	Relocate Roadside Sign per Section 315-1.1	2 EA	\$500.00	\$1,000.00	\$700.00	\$1,400.00	\$786.00	\$1,572.00
24	Install Curb Paint per Section 314-4	75 LF	\$5.00	\$375.00	\$6.00	\$450.00	\$7.00	\$525.00
25	Install Traffic Striping-Detail 9 per Section 314-4	932 LF	\$5.00	\$4,660.00	\$3.00	\$2,796.00	\$4.00	\$3,728.00
26	Install Traffic Striping-Detail 22 per Section 314-4	45 LF	\$8.00	\$360.00	\$13.00	\$585.00	\$15.00	\$675.00
27	Install Traffic Striping-Detail 25A per Section 314-4	470 LF	\$6.00	\$2,820.00	\$3.00	\$1,410.00	\$4.00	\$1,880.00
28	Install Traffic Striping-Detail 27B per Section 314-4	565 LF	\$5.00	\$2,825.00	\$3.00	\$1,695.00	\$3.00	\$1,695.00
29	Install Traffic Striping-Detail 29 per Section 314-4	136 LF	\$8.00	\$1,088.00	\$30.00	\$4,080.00	\$30.00	\$4,080.00
30	Install Traffic Striping-Detail 38B per Section 314-4	24 LF	\$8.00	\$192.00	\$10.00	\$240.00	\$10.00	\$240.00
31	Install Object Marker-Type K-1 (CA) per Section 315-12	5 EA	\$250.00	\$1,250.00	\$400.00	\$2,000.00	\$464.00	\$2,320.00
32	Install Object Marker-Type K-2 (CA) per Section 315-1.2	3 EA	\$250.00	\$750.00	\$400.00	\$1,200.00	\$464.00	\$1,392.00

PROJECT TITLE: Washington-Chapman Railroad Crossing Improvem

PROJECT NO.: 2016.0320 BID NO.: 22-23.001

BID O	PENING		ENGINEER'S E	STIMATE	Mark lee & Yong	Kay, Inc. DBA Bay	CF Contracting,	Inc.
	<b>DATE:</b> October 26, 2022	Date Approved: 9	/13/2022	4026 Martin Luth	er king Jr. Way	850 South Van Ness Ave., #21		
<b>TIME:</b> 3:00 p.m.			Prepared by: J. C	Driscoll	Oakland, CA 94	609	San Francisco, CA 94110	
	LOCATION: City Clerk's Office				Phone: (510) 65	8-7225	Phone: (415) 72	21-7160
					Fax: (510) 658-4	1890	Fax: (415) 296-	6437
ITEM								
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
33	Install Pavement Markings per Section 314-4	274 SF	\$6.00	\$1,644.00	\$15.00	\$4,110.00	\$17.00	\$4,658.00
34	Install Pavement Marker (Type G) per Section 314-4	28 EA	\$25.00	\$700.00	\$30.00	\$840.00	\$36.00	\$1,008.00
35	Install Roadsign Sign (R6-2) per Section 315-1.1	6 EA	\$500.00	\$3,000.00	\$600.00	\$3,600.00	\$679.00	\$4,074.00
36	Install Pedestrian Railing per Section 304-2	640 LF	\$100.00	\$64,000.00	\$300.00	\$192,000.00	\$163.00	\$104,320.00
37	Install Access Gate per Section 304-6	1 EA	\$4,000.00	\$4,000.00	\$14,000.00	\$14,000.00	\$14,524.00	\$14,524.00
38	Railroad Flagging per Section 7-5	1 LS	\$80,000.00	\$80,000.00	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00
39	AC Paving per Section 302-5	82 SF	\$20.00	\$1,640.00	\$100.00	\$8,200.00	\$300.00	\$24,600.00
40	Survey by the Contractor per Section 2- 9.2.2	1 LS	\$18,000.00	\$18,000.00	\$20,000.00	\$20,000.00		\$0.00 **
		TOTAL BID:		\$685,760.00		\$922,446.00		\$1,157,473.00
	REQUIRED DOCUMENTATION:		Bid Bond		Y	'ES	,	YES
			Addendum 1 & 2	2	Y	<b>ES</b>	Ackno	wledged
		SUBCON	TRACTORS:		Golden Bay Fendinc.	ce Plus Ironworks,	Golden Bay Fen Inc.	ce Plus Ironworks,
					Ridgeline Engine	eering	Compass Engine Inc.	eering Contractors,
					Striping Graphic	S		
		NOTES:					** Math Error Co	orrected
					1		1	

Reviewed by: John O'Driscoll Date: 10/31/2022

John O'Driscoll, Project Manager

Reviewed by: A Cossews Date: 10/31/2022

Austine Osakwe, Senior Engineer